STATION |

Evaluate the following expressions if r=4, h=7,¢c =2

Q11h+c)-14

(2 r2+ ¢(15 -h)

9hc+22

0 9r + 7h — ¢2
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STATION 2

Look at each of the three problems below and determine if they were

solved correctly. Make any corrections necessary.

A (21-17)+3.7
5

443 -7
5

ﬁ

5

I3

C 102+ (4+2)2-5

100+16+4-5
100+ 16 + 20

136

B (62-16)+24

(36 - 16) + 24
20 + 24

44
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A A meal at Pizzeria Plaza costs $2 per slice of pizza plus $1.75

for a drink.

Define a variable:

Cost of a meal with s slices of pizza

Cost of a meal with 3 slices of pizza

B Jorge has $740 in his bank account. Each month he has to
withdraw $27 to pay for his cell phone.

Define a variable:

Amount in his account after m months:

Amount in his account after 8 months:

STATION 3
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Use your understanding of exponent form, expanded form, and
standard form to complete the following table

exPoNeNt exXPANded S1ANdARd
fokM fokM fokM
4 .4.4.4.4
81
23 62
81
$-2-56-2-2-2
9.73

STATION 4
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STATION S

Write an expression for the following situations.

A) one-half a number plus 10

B) 6 times a number less 2

C) p squared divided by 8

D) 60 times the number of hours

E) twice the width less 3

F) temperature decreased 13 degrees

©Man
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Set a timer for 4 minutes. Write equivalent expressions for as many
problems as you can before the time is up.

b g (x +3) 2 2(5x-1) |2 e(4x-2) |t 5-(x-12)

12.5.7 4.10 -3 (15 + 6) + 2 2(11 + 3)

9 +(x - 3) 32x+1) |V (7+10)+x | 4-(2-2%)

STATION 6
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Create a problem and then apply the given property to complete
the table below. An example is provided in the first row.
z PRoOPeR1Y PRoBLeM Sgglge;‘::
O Add;f:g; iﬁlfe;ﬁ’ry 1a) 1b)
o I Mul’ripllllc:gl’;i\elﬁfl;ien’ri’ry 2a) 2b)
ol | BT AT "
‘ Zero Product Property | 4a) 4b)
Aaafe s[5 s
F Mul’ripllbifggigffinverse 6a) 6b)
N
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Label each of the parts of the expression using the terms
provided in the word bank.

82-6X-2+X+1TY

[WoRd BANK]

* Base * Operation
» Coefficient » Variable
» Expression * Term

* Constant  Exponent

STATION 3
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Unit: Expressions
Stations

Name
Date

Pd

exXPReCSioNS UNit Review

Answer each question in the appropriate box. Be sure to show your work.

CtA+iON | C1A+ON 2 C1AHON 2
1. A. Define a variable:
B. Cost of the meal with s slices of pizza:
2.
C. Cost of a meal with 3 slices
3.
Define a variable:
4. Amount in his account after m months:
Amount in his account after 8 months:
CtAtON 4
exPoNeNt exXPANded C1ANdARd
foRM foRM foRM
4.4.4.4.4
81
2362
81
5-2-56-2-2-2
9.73
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Answer each question in the appropriate box. Be sure to show your work.

Ct+A+iON S
A.
B.
C.
D.
E.
F.
CtAtiON 1
PROBLEM | prort oy
5+s s+5
1a) 1b)
2a) 2b)
3a) 3b)
4qa) 4b)
50q) 5b)
6a) 6b)

CtAtiON 6
| 2 3 4
5 6 L 8
q lo | 12
StAtioN 8

[LABeL tHe exPReSSioN]

B2-6X-2+X+1Y
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Unit: Expressions
Stations

Name KEY

Date Pd

exXPReCSioNS UNit Review

Answer each question in the appropriafe box. Be sure fo show your work.

Ct+A+ON | C1+A+iON 2 C1A+ON 2
85 A . |
E A._9 Define a variable: s = # of slices of pizza
B. _correct Cost of the meal with s slices of pizza: _ 28 + .75
2. 32
c. 280 Cost of a meal with 3 slices  $7.75
3 49 B
Define a variable: m = # of months
4 81 Amount in his account after m months: 740 —2/m
Amount in his account after 8 months: $524
CtAtON 4
exPoNeNt exXPANded C1ANdARd
foRM foRM foRM
45 4.4 .4.4.4 1,024
34 3.-3:3-3 81
2362 2.2:2-6-6 288
81 8 8
5204 5-2-56-2-2-2 400
9 .73 q9.7.7-7 3,087
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Answer each question in the appropriate box. Be sure to show your work.

SHAHON 5
A %x + 10
B. ©6bx-2
o &
D, 60h
F 2w-3
FT-13
StAtiON 1
s | it
5+s s+5
1a) Answers vary | 1b)
2a) 2b)
3a) 3b)
4q) 4b)
5a) 5b)
6q) 6b)

* There are other possible equivalent

g+A+iON 6 expressw‘ons; answers may vary.
| 2 2 4
4x + 12 10x - 2 24x - 12 17 - x
5 6 1 8
7512 3-10-4 5+ ((6+2)2-11+2-3
Qq 0] 1l 2
X+ 6 6x + 3 17 + x 2X + 2
C1A+iON 8
[LABeL fHe exPReSSioN]
exponenT coeffmnenT COHSTGHT
operohon

bose
|

82 6X - 2 X+7Y

Terw

vomob@

expression
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